PROFESSIONAL EXAMINATION BOARD

Police Recruitment Test : 2016
8th September 2016, 02:00 PM
Topic:- Chemistry

1)
Question Stimulus :-

. Hien . . . H2sn
An isotope of " contains 68 neutrons. What will be its mass mumber- / @ Cg

TS FARITS § 68 Y § O SHDI SoqH H&T gHil-
e 119
e 118
e 112
e 50
Correct Answer :-118
2)
Question Stimulus :-

When the temperature is increased surface tension of water- / SId dIU d¢AT SITdT %?ﬁ ofd
P oS d19 -

° increases/a%?lT%

e decreases/ Hedl @

®* remains constant/ RRr Yedl %

e shows irregular behavior/ Sfrafira srasR welfa &rar %
Correct Answer :-decreases/ 9cdl %
3)
Question Stimulus :-

The Value of orbital angular momentum for an electron in 2S orbital is - / 2S

PP P A b T H&P BN Ty BT A gIT-

ho—
—fHI+1
° zﬂ._\'( }
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Correct Answer :-

o JIO+ 1)

4)
Question Stimulus :-
AH for the combustion of a compound is-/ & Tfe & gga & forw 2H ghm-
® positive/ YATHD
* zero/ [
* negative/ BUTHSD
* may be positive or negative/ YATHD T BUTHSDP
Correct Answer :-negative/ BUTHD
5)

Question Stimulus :-

Variation of heat of reaction with temperature is known as- / 91U & I1Y 3fHTHAT ST HEAT

# ufvad= &1 Fed 8-
e Vant Hoff’s equation/ 3= g% JHIHRUT
e Henderson’s equation/ 8839 HHIHUI
e Vant Hoff's isochore/ d< g 3MSHIBIY
® Kirchhoff's equation/ fpenw e

Correct Answer :-Kirchhoff's equation/ f&¥aiw Hiwwur

6)

Question Stimulus :-



Which of the following is not correct resonating structure for CO5 - / frafafea d 9 CO,

B B W AT T W TN @-

e 0T—C=0%

e 0T=C—-0"

+_rr=nt
Correct Answer :-° c=0

7)
Question Stimulus :-

The geometry of IF, is/ IF, 3t SaTRIfd 8-
* Pentagonal bipyramidal/daysitg fgaftRifasta
* Trigonal planer/ ﬁ‘lﬁﬂ'q qaaarg
®* Trigonal bipyramidal/ ﬁ'ﬁﬁﬂ'q ﬁﬂﬁ?‘lﬁl@'ﬂ
* Octahedral/ CHABY
Correct Answer :-Pentagonal bipyramidal /4y feafiRmasta

8)
Question Stimulus :-

In a solution pH and pOH at 298K is equal to - / 298K R T® fd@d= & pH 3R pOH SRTET

gIdT 8-
° zero/?ﬁ%
* 14/14%
e infinity/ 3Hd
e a negative number/ TH BUTHS TSI &

Correct Answer :-14/ 14 &

9)

Question Stimulus :-



Which of the following is leuis base- / f=faflad & & 9 91 59 &R 8-
e AICI3
°* Ag
e AI(OH);
* NHj
Correct Answer :-NH3
10)

Question Stimulus :-

In MgCl, the Oxidation number of Chlorine is-/ MgCl, H TR B SMRIHT =T 8-

° +1

® Zero / U

Correct Answer :--1

11)
Question Stimulus :-

The tendency towards complex formation is maximum in- / '\‘IW T B &HAT Taffie

gl 8-
e S-block elements/S- =i dal A
®* p- block elements/ p- TP ddl |
e d-block elements/ d- SI® d@l &
e None of these/3TH q HIg g}

Correct Answer :-d-block elements/ d- & d@l &

12)

Question Stimulus :-



The family of elements with the highest ionization enthalpy is- / dadl &1 ufvar ot
AT Folt Faifie gt 8-

alkaline earth metals/ &g Hal Urq
halogens/ gdoH
®* noble gases/ mﬁ'ﬁ

* alkali metals/ &TR¥ u1g
Correct Answer :-noble gases/ 3&% 19
13)
Question Stimulus :-

During roasting of Zink blende, it converts to - /Ri® RSt & HoH & BaaEy a8
: AR gfvafda g wrar g1

e ZnO

anO4

ZI‘ICO3

e Zn

Correct Answer :-ZnO

14)
Question Stimulus :-

The Oxide which gives H,0, on treatment with dilute acid is - / JHTFATES ol g 3T & 1Y
3fiPpd FM W H,0, T 3-

e PbO,
* NayO,
* MnO,
e TiO,
Correct Answer :-Na,0,

15)



Question Stimulus :-

The mixture of MgCl, and MgO is called- / MgCl, MR MgO & fryor & Fgd © -

e Sorrel’s cement/ 9k dHe

e Portland cement/ UIéaus e

e Alum/ ftheadl

® Magnesium Oxychloride/ AREg Gﬁ'ﬁ?ﬂﬁﬁﬁﬂ%@
Correct Answer :-Sorrel’'s cement/ 9Rd dHe
16)

Question Stimulus :-

The Laughing gas is- / ™ ties | %—

® Nitrous oxide/ HATgcH &ﬁ'ﬂ'\q'l's‘g%'

* Nitric Oxide/ ATgf¢® 3ifdaTgS

 Nitrogen trioxide/ ATSeIoH CIS3ATHRITSS

* Nitrogen pentoxide/ Hﬁﬁﬁqﬁﬂ&ﬁ'ﬂﬂ'@
Correct Answer :-Nitrous oxide/ -TS¢H ATRTSS

17)
Question Stimulus :-

Ozone can be tested by- / 3 &1 uf¥aur foar &1 It 8-
* Ag/ Ag gRT
* Hg/ Hg &1
® Zn/ Zn QRRT
e Au/ Au gIRI
Correct Answer :-Hg/ Hg g1

18)

Question Stimulus :-



Acetylene reacts with water in the presence of ng"' and acidic medium to give- /

gdifeei= &t shfuferar sia Hg2+ &) SufRUfT A iR sreia ATeH A RIS STl & ) ured g 8-
e ethanol/ BT

e ethanal/ B399
e ethane/ B9
° propanal/!ﬂﬂ‘lﬁ
Correct Answer :-ethanal/ 339d

19)
Question Stimulus :-

For which of the following compound the Lassaigne’s test for N will fail- /e 7 Q
DI AT TG N BT a9 UiReor ¢4 & 9%d T8 -

* NH,CONHNH,.HCI

* NH;NH,.2HCI

* NH,CONH,

* CgH5N=N-CgH5
Correct Answer :-NH,;NH,.2HCI
20)

Question Stimulus :-

Chloroform on treatment with alcoholic KOH and aniline gives- /arvﬁﬂm‘rﬁ' &I oI
TP AP KOH 3R T & 1Y ifUgpd wrdT SITdT @ 1 U gl 8-

®* Phenyl isocyanide/ﬂ?ﬁlﬁéﬂgﬂ’lﬂm
e Phenol/WIATd
e Cyanobenzene/dTgl a=itq

* None of these/ §=|1?r | Hﬁ'&‘ =ré1

Correct Answer :-Phenol/®HATd

21)



Question Stimulus :-

What is the molarity of H,S0O4 Solution, Contains 9.8 gram H;SOy, in 2 liters water- /

H,S0, & T® Hid, foraw 9.8 I H,S0,, 2 deX o | ¥aT §, 3t dAerdl -
° 0.1M
e 0.005M
e 0.01M
° 0.2M
Correct Answer :-0.005M

22)
Question Stimulus :-

On 1 atmospheric pressure which solution has maximum freezing point- / g faaaa &1

feni® 1 argAvsd I W 3ifiwman gNm-
* 0.1 M Nacl
e 0.1M BaCl,
e 0.1M Sucrose / 0.1M S[hId
e 0.1M FeCl;
Correct Answer :-0.1M Sucrose / 0.1M W

23)
Question Stimulus :-

Cell reaction is spontaneous when- / 9 3fufspar wa: ghft, s9-
o EO .4 is positive/ E® oq YFITH® BITT
« 4GO js negative/ 2G° mume® g
o EO, .4 is negative/ E0 .y HUTHS RN
e 4GO js positive/ 2G? w=re® g

Correct Answer :-“G9 is negative/ G0 Fuma® g



24)

Question Stimulus :-
Reaction 2H;05, 7 2H;0+0, is- /2H,05 “2H50+0, 3fHfisar 3-
e Zero order reaction/ I dife ufufpar
e First order reaction/ UYH ®ife sifufeear
e Second order reaction/ fgdta Sife srfiferar
* Third order reaction/ ?j?ﬂ'q dife srfufspar

Correct Answer :-First order reaction/ UyH ®ife srfifsar

25)
Question Stimulus :-

The value of k for a first order reaction is 7.39x 107> second ~! then half life of reaction

is- / U UyH Pife fufspar & folg R fRRTS k &1 91 7.39% 1075 THhe -1 g ot srfufspar o1 aref
STYHTA BT -

e 98.8 seconds/ 98.8 3 [ )

e 90.77 seconds/ 90.77 4&s

e 9377.53 seconds/ 9377.53 4&s
e 739 seconds/ 739 4&s

Correct Answer :-9377.53 seconds/ 9377.53 48

26)
Question Stimulus :-

The state of iron in which percentage of carbon is maximum- / de o 98 SrawiT fored
P B gfa=ra AT 99 S 8-

e Wrought iron / fUeai @gr
e Cost iron / g&di @Igl
* Mild steel / {g WId

® Medium steel/ HHH gATd



Correct Answer :-Cost iron / gddi @igl

27)
Question Stimulus :-

HgCl, on reaction with stannous chloride gives- / HgCl, , W FR13S | fFaT S a1aT

?-

* Hg

e HgO

* HgSnCl,

* HgCl,.SnCl,
Correct Answer :-Hg

28)
Question Stimulus :-

The Composition of gun metal is- /79 Hcd &1 J°e gl 8-

Cu(60%), Zn(20%), Ni(20%)

Cu(88%), Zn(2%), Sn(10%)

Cu(90%), Zn(2%), Sn(8%)

Cu(28%), Fe(2%), Ni(70%)
Correct Answer :-Cu(88%), Zn(2%), Sn(10%)

29)
Question Stimulus :-

The Reaction in which alkyl halide is converted into alcohol- / TfFd 2ATSS B! Teblgrd A
uf¥ufda o= &1 fopar -

Addition reaction/ IR ffHfear
Substitution reaction/Ufa=ura= rfHfsrar

Dehydrogenation/fagrgsiai®meur
Dehydration/ IEEGIGEL]



Correct Answer :-Substitution reaction/ufa=ura ifufsrar

30)

Question Stimulus :-

Which of the following compound is more acidic- / frafafea aifte # aratfie sy 8-
° Phenol/tﬁ:ﬁ'ﬁ
® O-nitrophenol/ o-mg@vﬂﬁ?r
® P-nitrophenol/ P-T-I'I?@Tfﬂ:ffﬁ
* m-nitrophenol/ m-ﬂ'l?,@'tfﬁﬁ?r
Correct Answer :-P-nitrophenol/ P-ATSeI®HTd
31)
Question Stimulus :-
On heating C;H5ONa and C,HsCl gives- / C;HsONa TUT CoH5Cl @Y TH $R W Wi gl &-
e ether/ éﬁl?
* ethyl alcohol/ By sresiga
e acet aldehyde/ Udic Tafsgrss
e acetic acid/ Q‘x‘ﬂﬁﬁ A+

Correct Answer :-ether/ W

32)
Question Stimulus :-

Which of the following is formed from acrylonitrile - / E‘Wﬁ'-ﬂ?@'l?zﬁ ¥ a1 %—
e Terelene/ i+
® Orlone/ GG
* Bakelite/d&drse
e Polyvinyl chloride/ Urdl arsfaa wiRIgS

Correct Answer :-Orlone/ 3iTdlq



33)
Question Stimulus :-

Which one of the following is strong acid- / =1 # Q= TP U9 3 gTT-
e P-chlorobenzoic acid/ P-aRIdwiIg® 3
e P-Hydroxybenzoic acid/ P-gIggIail a~Igd 3%
e Benzoic acid/ aﬁﬁgﬁ? 3T

e P-Nitrobenzoic acid/ P-AT3¢l Slis® o

Correct Answer :-P-Nitrobenzoic acid/ P-Tﬂgﬁ Sels® orF

Topic:- Physics
1)

Question Stimulus :-

If critical angle is 45 than refraction will be - / Tlﬁ Hifd® I 45 % GIRCLCORIGD
BITI-

e 1
° 1/*~'JE
e 15
° 1414
Correct Answer :-1.414
2)
Question Stimulus :-

What is the relation between the focal length I of spherical mirror and radius of

curvature R ? / T gfur &Y B gt 7 ud aepar Bisar R & ey giar 8-

, f=2R
o =R
, R=2f

® None of these/ 3‘—|1?r | ﬂiﬁ el



Correct Answer :-} = 2f

3)
Question Stimulus :-

For a telescope the focal length of objective and Eye piece lenses is F and f. The

magnifying power of telescope will be - / T& grexil & fHexa® MR Af®T Ft B gt F
3R £ B grei &t smadH erwar gift-

o F+f

o F-f

F
Correct Answer :-jc

4)

Question Stimulus :-

f
If the focalflength of camera lens 2¢ is 8 cm. Then the diameter of effective lens

will be - / 28 HIRT A B BIHT g3t 8 AW 31 YUGHRI AT HT AR G-
e 2.85cm
e 2.8cm
e 3.85cm
e 3.8cm
Correct Answer :-2.85 cm
5)

Question Stimulus :-

A minimum magnifying power of telescope is M. If the focal length of its eye piece is
reduced to half then its magnifying power will be - / f&ft ?@ﬁ?ﬁ <gAdH 3maeh &fdaT M
81 SUD! AP P Broags! M FR ¢ W ITH! AL &aT g Frh-

° M/2



° 2M

e 3M

°* 4M
Correct Answer :-2M
6)

Question Stimulus :-

If an electron and proton put in a uniform electric field, the ratio of their accerteration

will be - / T% Wl 3R T gAae U T fagaa &7 # T& oTd @1 3P @Rl BT 3rJuTd g1~
* zero/ YU

®* one/ ThH

* equal to the ratio of electron and proton masses/ Eﬁﬂﬁ'—l 3R Iﬂﬁ:[ & SHATI &
U & SRTEX

e equal to the ratio of proton and electron masses/ W2l 3R S & FHATH &
U & SRTER

Correct Answer :-equal to the ratio of proton and electron masses/ W29 3R sA%EH &
SSHTHI & 3JUTd & TR

7)
Question Stimulus :-

Maximum energy of photoelectron is depend on - / UBIR - sﬁﬂﬁ'—ﬁ 3 Sifymay et fAR
Heel 8-

* Intensity of light /IR B dlgdl R
* Frequency of Iight/maﬁ anqﬁr R
e Intensity and frequency of light / YT &1 digar iR 3mafsr =
e Polarization of light / &I & ﬂ'tﬂWUT R
Correct Answer :-Frequency of light/Y®T=I & 391 W)

8)
Question Stimulus :-

In P-type semiconductor, there is- / P-U®R & fgarad | gral %—



* One more electron/T® SAdel- &1 U

e One less electron/ T& sAqeid &I AUl

® One less atom/ wmaﬂ GI':[@II%T

e One donor level/ T® GIdl WX
Correct Answer :-One less electron/ U®% Fadel- &1 ufRufa
9)
Question Stimulus :-

The wavelength range of visible light is - / T UPIR BT Tyt fAe pw &1 gian 8-
o 107 m
* 1m
e 1077m

o 6x1077

-7
Correct Answer :-¢* 107"y

10)

Question Stimulus :-

Torque of an electric dipole P in a uniform electric field E is- / fagaa &= E 4 P amyof
aTa fgyd W @M ara 9o 3o @

E

=1

x E

=18

® Zero/ W

[ )
Tl
F
a=H1

Correct Answer :-P *E
11)

Question Stimulus :-



If we have three capacitor with capacity 6 micro farod each, Fhen how mu.ch maximum
and minimum capacity we can achieve - / 6 HISHIHIS & o9 JRd Iua €, T BI &1
b arelt gAaH R Srfireman ufvang g -

o OUF, 18pF
e JuF, 12uF
o ZUF, 12pF
e 2UF,18pF

Correct Answer ;-2+F. 18uF

12)
Question Stimulus :-

The time period of freely hang magnet depends on - / WAAATIA® Tch §d YIP BT qra-TdId
fre Rk ear g -

e the length of magnet/4a® &1 T W
e the polarity of magnet/Jd® & Yd UTacd W
e the horizontal component of magnet/Ja®ia &5 ¥ &fasl ved R
¢ the length of thread/%ITPf C3| EEITQ" R
Correct Answer :-the length of thread/ YT &I @a1s W
13)
Question Stimulus :-

In one meter rod AB at end A the temperature is 100 € while at the end B the
temperature is 10C. What will the temperature at a point away 60 cm from
point B- / T Hiex ddl 58 AB & U® RIR A &T A7 100 © GYT gu¥ X B &1 A9 10
CIETT ) Ry B & 60 9} g3 B8 WR d1Y gI-

* 64°C
e 36C
e 46°C

e 72°C



Correct Answer :-64 ©

14)
Question Stimulus :-

At a constant temperature, the pressure of gas increased by 5% then its volume

reduced by - / fraa@ a1 W fodft A9 & g1 § 5% S F W ITF - § HHl gifl-
* 5%
* 5.26%
* 4.26%
* 4.76%
Correct Answer :-4.76%

15)
Question Stimulus :-

Earth complete its one revolution around the sun in one year. If the distance between
them increase twice then time to complete one revolution will be - / gt 4 & ART 3R

%mqﬁmﬁﬁwaﬁwﬁ%mﬁﬁdﬁaﬂ;ﬁﬁﬁwﬁmﬁaﬁﬁwwmﬁﬁm

1

1
e zyear/ : GL
e 22 year/ V2§

® 4 vyear/ 4 99

8 year/ 8 GL
Correct Answer :-2V2 year/ V2

16)
Question Stimulus :-

If same force applied on a wire, its length increased by 5 mm, if we take another wire
whose length and diameter are doubled and make with same material, how much
length of it increase by applying same force. - / T® dR IR $S dd W R TSB! Fﬁﬂi 5
fﬁh'gréa%fnj?ﬁ%l gfe ¥ yard & goR aR st da1g 9 ¥ GRA 81 91 39 St 99 § Wi R |darg

e 2.5 mm / 2.5 fit



e 50mm/ 5.0 faft
e 10.0 mm / 10.0 it
e 40.0 mm / 40.0 fiHt

Correct Answer :-2.5 mm / 2.5 fit

17)
Question Stimulus :-

An ice piece float away in jar filled with water. After complete melt of ice the water

lever will be- / % &1 Th gPhsl TR T WX Tt A @) 38T 81 % & Yuia: frad 99 W ur-it &1 9a-
* increase/ SW 3T
e decrease/ -4 firRam
* Remain same/ &I'quaﬁ'd?’%Tn
® Firstly increase then decrease/ T arR 37, fib e
Correct Answer :-Remain same/ 3rufyafdd I
18)

Question Stimulus :-

The direction of induction current determined by - / A¥d YRT & fezn 31 F} ST 8-
* Faradey’s Iaw/aﬂ'l@.' CARLE R
e Lenz's law/ oW & fraw &
e Maxwell’s law/ #a9dd & a9
e Ampere’s law/ SRR & fFraw @

Correct Answer :-Lenz’s law/ a9 & fagq @

19)
Question Stimulus :-

An object is moving on circular path with acceleration ‘a’. If the speed of car increase 4
times then accerleration will be- / T&% fiUg gaT®R 41t W ‘a’ @vur ¥ afqwr= g1 afe fvs #t
I IR T B & I df STDT @Rl g1 TRT-

® 4a



* 8a

® 16a

°* a
Correct Answer :-16a
20)

Question Stimulus :-

The path of an object moving by uniform velocity in two dimension will be - / fafaefa

Tfy & U waE 30 @ TfHTas @1 95t g 8-
° Curved/ﬂ?ﬁq
° Circular/?ﬁﬂ'q
®* Hyperbolic/ WRA™ATHR
e Straight line/ I3d 3EY

Correct Answer :-Straight line/ I3 ¥&Ig

21)

Question Stimulus :-

Dimensional formula of work is - / 1 &1 fardg Kl %—
o MLT™Z
o MZILT-Z
o MZL72T

o ML2T2

Correct Answer :-ML'T™

22)

Question Stimulus :-

The working of telephone mouth piece is depends on - / THAHI & AeYdT $t srdfafy
e W amuriya @-

* Heat - Electro Effect/ dTd fagad yuTa



* Photo - Electric Effect/ U&TI fagad gura
e Electro - magnetic induction/ fagaa ga&ig IRor
* None of these/ Eﬁ J ?:Iﬁ".it &l

Correct Answer :-Electro - magnetic induction/ fagad gaeia Rur

23)

Question Stimulus :-

In L-C circuit the normal frequency is- / L-C Uf¥uy ¥ Taruifas anqﬁr gl 8-

1 ic
° ZTENI

—

1 L

EQE
Correct Answer :-

24)
Question Stimulus :-

If a body complete their revolution around R radius circle. Work done by centrifugal

force F will be- / If¢ T® a9 R 301 918 g« & R 3R T T Tt 81 THP=N 9 F gy
far T et gim-

2nRF

[ ]
e 2RF
e RF

® Zero/ W



Correct Answer :-Zero/
25)
Question Stimulus :-

If an “ particle have parallel motion in magnetic field then force experience by

it- / afe TF © ~ BV gIBIT & F GG Tfd PR QT 8, °f 39 R 96 -
e 2 Newton/2 g
e 0.2 Newton/ 0.2 =g+
o Zero/ A
* None of these/3d | ®I3 81

Correct Answer :-Zero/ 4

26)
Question Stimulus :-

P-type of semiconductor will form by adding the following impurities - / P-U®R &

ATl B = i Sraf¥sor e IraT Wi 8-
* As
e B
e P
* Bi
Correct Answer :-B

27)
Question Stimulus :-

Band spectrum is the property of - / Jus “\‘ai@'q SI&Ior %—
e Atoms/ URHTU[SA] BT
® Moleculars/ GfUJGﬁ?ﬁT
* Non crystalize solid/3ifSheea ST &1
* Crystalize Solid/ foh&eeita a1l 1



Correct Answer :-Moleculars/ 3U[3ff &I

28)
Question Stimulus :-
Mass of photon in rest- / faRTH # Wil &1 A 8-

hv

o ?
hv

hg

[ ] C

® Zero /YU

Correct Answer :-Zero / g4

29)
Question Stimulus :-

Which of the following is long wave - / fra A @ @t a3 o o 8-
e Radio waves/ ¥f&dt a3
o Y-waves/ Y-f&rol
® Micro Waves/J&H GELll
* x- Rays/ x-fzor
Correct Answer :-Radio waves/ ¥f&al a3

30)
Question Stimulus :-

Interference Phenomena is possible - / AP0 B YeAT HHT %—
e Both in transverse and longitudinal waves/ U Td Glﬂ%ﬁf Sl A o
e Only in transverse wave/ $ad U a3 &
e Only in longitudinal wave/ %ad Glﬁ%?ﬁ GESIR:
* None of these/ Eﬁ J aﬁs‘ &l



Correct Answer :-Only in transverse wave/ $dd U a3l #

31)
Question Stimulus :-

When two sound waves superimpose, they produce beat, while - / Sd ol sy a3
ARG gt 8 @ faus IO g @ wafe-

e Amplitude and phase are different/ ITF ATATH T4 ®ar fu= gl
e Different velocities / 3P A7 fu= 33[
e Different phases/ 3! Ham fy= g
* Frequencies almost same/ KL 3nqﬁrq1 IHIT HHTA 33[
Correct Answer :-Frequencies almost same/ ITPT GHT{R-NT THIT QTFIFTE?I
32)
Question Stimulus :-
For at certain temperature the velocity of sound in Oxyzen (02) is 460 m/s then for the
same temperature the velocity of sound in Helium (He) will be (while Both gases

treated as ideal gas)- / fFeft fif¥a arg wr sifRfie= (Y2) & @fy $t 91 460 m/s I A AU W
gifead (He) ® @fs &Yo@ eft (S A &1 sime=f A9 91d §9) -

e 500 m/s
® 650 m/s
* 330 m/s
® 1420 m/s
Correct Answer :-1420 m/s

33)
Question Stimulus :-

If n small balls each mass m, elastically collide ona floar per second with velocity u
then force impact on a floar will be - / ”ﬂﬁ{ n DIt ﬁ%, UA® BT GUHAT m, Th dd WY ufd Govs
TR 9 § u T q THIACT 3, df I W T 9 HM-

e 1mnu

e 2mnu



* 4mnu

[

mnu

Correct Answer :-2mnu

Topic:- Maths
1)

Question Stimulus :-

"

r

I=—1 Z=—"2,
If 7 Then value of “9%) js- 7 afg © ~ 1+ qa @92 1w 8-

o T

w3

w|y

[ ]
|

2m

Correct Answer :-?
2)
Question Stimulus :-

The sum of first n natural numbers is - / T4H " YTHd JB131 HT TN 3-

o nNm—1)

nin —1)
° 2
o nNm+1)

n(n+1)
° 2

n{n+1)
Correct Answer :- ?

3)

Question Stimulus :-



3
The sum of two numbers is 15 and the sum of their recipr?cals is 12, then the

numbers are - / gl GBS &T AT 15 § TS 39 HohHI &1 U 10 §, 99 9 H&IH 8-
e 12,3
e 10,5
e 8,7
e 11,4
Correct Answer :-10,5
4)
Question Stimulus :-
If "P5 =20."P;, then n=? / af¢ "Pg5 =20."P5, @ n=2 -

° 4

Correct Answer :-8

5)

Question Stimulus :-

e+el

e—e




Correct Answer :- 2

6)

Question Stimulus :-

cosff  —sin

sinf cosfl then the correct relation is- / fg
cosff —sin

sinff cosf ’aa-w-\qa'-u-%_

A= [cas o —5in a]
If Sina Ccosda and

_ [cas & —Ssina

sina casa] 3ﬁ7

o AZ=R2

o A+B=B-A

o AB=BA

e None of these/ ?Fl'efﬁa"ﬂﬁ:lﬁ

Correct Answer :-F =Ba

7)
Question Stimulus :-

If sin A + cosec 8 = 2, then 5in?@ + cosec?f =7 / 'Clﬁ 5in 8 + cosec § = 2, then 5in?@ + cosec?g =7

« None of these/ F9H A ®IS gl

Correct Answer :-2

8)

Question Stimulus :-

I’-.'llm

B
— — — cos — =7 . — — cos — =7
In ﬂﬂBCJEl—iﬁ,h—zil'ElndC—zﬂ’ then /qﬁﬂﬂﬁﬂﬁ'a—iﬁjb—zi}aﬁ? C—Eﬂ,aa' 2

°
| L

°
|



[ ]
b | =

Wi =

3
Correct Answer :-4

9)
Question Stimulus :-

If sin"lx=0+8 and sin"ly = E‘—ﬁ" then 1+ =? / afe sin"lx=0+8 3R sin"ly = B—ﬁ, a9
1+ xy=7_

sin?@ + sin® 8
sin®@ + cos?f
e CO5°H+cos<fi

cos?8 + sin®f

Correct Answer ;-5in°% +cos°f

10)
Question Stimulus :-

If the area of the triangle with vertices (x, 0, (1, Dand (©2 js 4 square unit then a

vaIu_E;TlcT)fxis-/ﬂﬁ?ﬂﬁ(x’m’(i’i}éﬁ?m’z}aﬁﬁﬁﬁﬁm4ﬁ§$ﬁaaaxﬁt{fﬁ
| -

Correct Answer :- 2

11)

Question Stimulus :-



The angle between the lines ¥ ~ Y t3=0apd * * 27 *3=0q: / e Yw@ai

2%~y +3=0 gz x + 2y +3=0 F fig HIvr ¥:
30°
45°
60"
a0-

Correct Answer :-gﬂn

12)
Question Stimulus :-

If the radius of circle ¥ T7° ~18x+12y+k =045 11 then ¥ =7 / al} g
x4yt 18+ 12y +k =0 gt w11 8, a@ £ =7

* 347
e 4
—4

e 49

Correct Answer ;-

13)

Question Stimulus :-

The equation of the parabola with (=3.0) 35 focus and * T5 =0 as directrix is - /

waag et Ay (739 gy fgar * +5 =0 8, o1 gfteor -

x2=4(y+4)
o Xi=4(y—4)
v:i=4(x+4)
o Vi=4(x—4)

Correct Answer ;- = 4(x+4)



14)

Question Stimulus :-

The direction cosines of the line * =Y =7 are - / ¥@1* =V = 2 &} fep Hisamn 3-
1 1 1
. \"IEJ x-'lgj x-'lg

11
'3'3

wl =

e 1,1,1

e None of these / 370 q PI§ a1

1 1

1
Correct Answer :-V3 V3 V3
15)
Question Stimulus :-

Equation of * “axis is: / * ~31& BT AHIHII 8:

:X.'_}-‘_Z
e 1 1 1
:X.'_}-‘_Z
e 0 1 1
:X.'_}-‘_Z
e 1 0 D
:X.'_}-‘_Z
e 0 0 1

X

_Y
Correct Answer :-1 0

z
0

16)

Question Stimulus :-

The angle between the planes ¥ ~ Y TZ2=6 and *t¥* 22 =7 jg. s gAq@ ¥ ~ Y t2=6

aﬁ?x+}f+22=?%mwa_

. 30°

. 45°



Correct Answer :-°°

17)
Question Stimulus :-

(@.Di+(@j+ (ak)e=7

e None of these / 379 q P15 a1

-+

Correct Answer :-“

18)
Question Stimulus :-

(28 +3b) x (54 +7b) =

x b

B

[ ]
Ll
=
By

(=T 8
+
=201

74 +10b

= El
Correct Answer :-2* 2

19)
Question Stimulus :-

fa=

[

— o A_ T +— o ] 1. H
=i+2=kand ¢ =3TP +5 are coplanar then the value of p will be -
i

: b
4
5 . . 7_4& A —}_ - - .
Jafga=i-j+k b=i+2j—k gy c=31+pj+ 5 guqeliy g, a9 p &1 A SN -



Correct Answer :--6

20)

Question Stimulus :-

fla) x flal)

If f(x} = ﬁ" then fl:ﬂ—'-ﬂ_ / -qﬁ f(x} = ;.l aa- fl:ﬂ-l-l:l:

o fl—a)

.G

° f(ﬂ‘:}
° f(a_—a'l)

Correct Answer :-/(@%)

21)

Question Stimulus :-

d - .

—(x2e*sinx) =

dx

xe*(2sinx+x sinx+ xcosx)

ye*(2sinx +x sinx — cosx)

xe*(2sinx +x sinx+ cosx)

e None of these / §TH q ®I5 gl

Correct Answer Lxe¥(2sinx + x sinx + xcosx)

22)

Question Stimulus :-

a—

d -
y =tan™! [==, then =X =?

If 4 ot dx / -qﬁ} -,1|r1+xjaa-;_'



x
ros~1—

e None of these / 379 q $I§ a1
Correct Answer :-None of these / §H J ®Is gl
23)
Question Stimulus :-

- 5 _ 2 3 _ B . — 5 _ 4 3 _
The function ¥ — 5%~ ¥ 3" — 10 jg maximum, when * =’ / Ba_ ¥~ — 5" +3x° — 10 Ifars
g, 5g X7
4

e 3

° 2

e 0
Correct Answer :-1

24)

Question Stimulus :-

—

COSAIX

j — dx =
W x

e 2cosyx+c
e 2sinyx+c

e Sinyx+c

1 _
—cosyx+c
o 2

] II_
Correct Answer :-25nvx+c

25)



Question Stimulus :-

jxiagxdx:
x:lE x2+
o 2 08 % 2 ¢
. ?iagx—z+c
. Eiagx+5+c

e None of these / §TH A ®I5 gl

- -
& rs

—logx——+¢
Correct Answer :-2 4

26)

Question Stimulus :-
J‘ dax _

(x—x2)
logx— log({1—x) +¢
o log(l—x%)+c¢
—logx+logll—x)+c
o loglx—x?)+c

Correct Answer :-109 %~ log (1—x) +¢

27)

Question Stimulus :-

oot x
[ —— .l—dx =
p veoorx ++tanx

ral

b

W= A



Ll E

T
Correct Answer :-4

28)
Question Stimulus :-
dy ¥ 7 dy ¥ 7

j— r

Solution of @ =

o dxv=x*+c

xy=x%+¢c

—xv=x%+
, 3y=xtte

o Xy=4dx*+¢

N
Correct Answer ;- =%~ +¢

29)

Question Stimulus :-

ds z dsy3

—] +3(=) +4=0

The order and the degree of the differential equation dfi) (dr)
2 3

d2sy " ds
respectively are: / 3AHAT GHIHIU @) +3(@E) +4=0 F1 PIfe vd Ud HHI: B

e 2,2

e 23

e 3,2

* None of these/ Eﬁ@f&ﬁ'ﬁcqﬁ
Correct Answer :-2,2

30)
Question Stimulus :-

In a single throw of two dice, the Probability of getting sum more than7is - / 3 Ul &t
TP TR B R 79 AfU® IR ured H31 3t uridiepan 3-



e 7/36

e 7/12

e 512

* 5/36
Correct Answer :-5/12
31)

Question Stimulus :-
From a pack of 52 cards, two cards are drawn one by one without replacement. The
probability that first drawn card is a king and second is a queen, is - / 52 Ul &l WHT!ZTTﬁ
TS # | UP-UPH XD o Ul (11l ST 81 UgdT U] HihTe & 716 a1uy 8! fHreman irar | 99 ugen gl
TGRS T4 GoRT Ul 97 g4 o WTiied &-

e 2/13

e 8/663

°* 4/663

e 103/663
Correct Answer :-4/663
32)

Question Stimulus :-

If correlation between * and ¥ is 7, then correlation between * and * will be- /

gfe * 3R Y & AT IgaY " g, 99 ¥ 3R ¥ & da JgawY gh-

Correct Answer :-r

33)

Question Stimulus :-



If correlation coefficient is negative, then the regression coefficient is - / gfe ggawy

U BUTHS 8, T9 JHIHFT VNS gHTI-
e Zero/ YA
® One/Udh
®* Negative / BUTHP
® Positive / YTHP
Correct Answer :-Negative / BUTHD

34)

Question Stimulus :-

xptnp d —
The formula ey G
[27™ ) = 2000 +7) + 20 +72) + -+ ()]

k . . . I . 7
E[(}-,E,,+Jn]"|‘2(}1 +y2) + et (o) iscalled - / A

Fgard 8-

1?"&'

e Simpson’s G) rule/R g &1 G) frag

e Trapezoidal Rule/ JHaW ffraq

Eth

3
e Simpson’s B rule /RO &1 G g
* Newton’s formula/ <JcHd &1 A

Correct Answer :-Trapezoidal Rule/ SHa@W f<gH



